¾HERTFORD COUNTY CONSTABULARY

EXAMINATION PAPER

LOCAL TAXATION

POLICE CONSTABLE   -   Second class to First Class

Time allowed   45 minutes          December 1916

                                              =======================
1.  What licences are under the control of the Hertfordshire

County Council, i.e. dealt with by Police in the local

                              Taxation Department?

2.  You see a man carrying a gun in a field of which he is

 the owner. He is not shown on your register of gun

                                licences.

What would you do?

3.  (a) What does a Male Servant licence cost ?

(b) Would a licence be required for a male servant under

16 years of age?

4.  What is necessary to exempt a tradesman from licence duty

                           on a cart ?

5.  Give date on which the following licences expire:-

1.  Male Servant

                                                           2.  Carriage

                                                           3.  Gun

                                                           4.  Dog

*********************

HERTFORD COUNTY CONSTABULARY
EXAMINATION PAPER

POLICE CONSTABLE   -  Second Class to First Class

ARITHMETIC

Time allowed  -  One hour           December 1916

                                              =======================

1.  Divide 68796 by 108.
2.  Divide 69454 by 121.

3.  At the beginning of the year there were 1200 scholars

     in a school.  During the year 367 were admitted and 189 left.

     How many scholars were there at the end of the year?

4.  If a shopkeeper buys 851 bundles of wood, each containing

     264 pieces, how many smaller bundles, each containing 

     148 pieces , can be made from them ?

5.  A merchant bought 3150 dozen oranges.  After throwing

     away 18 score of bad ones he put the rest into boxes,

     each containing half a gross; how many boxes did he fill ?

6.  How many times is £2.17.4½d contained in £2194.11.10½d?

7.  If 10 eggs cost 1s.3d, what is the price of 12?

8.  Your weekly wages are 25/-, from which amount 7½d is 

     deducted for insurance. How much per cent does the 
     deduction represent ?

9.  Add together:-  £21.16.11¼d,  £7.10.2,  £56.17.4½d, £63.19.8½d,

     £4.9.7½d, and £39.18.10¾d
10. What is the sum of 30 numbers each of which is 6789?
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